(Bl&4) REMAH DRBRTAEDHER (FMOERE)

1. KR G 608R1K)

EERFUELDRER

BERE

AEEE

BIAH TR EEF (mg/ke) (mg/ke) Bk E E/Ke
ACN 5 0 — 0.02 0 0.01
DCMU 1 0 — 0.05 0 0.01
MEP 5 0 — 0.2 0 0.05
FOLAILTAY 1 0 — 0.02 0 0.01
FIEIRRAEY 8 0 — 0.2 0 0.01
AFIThIINT Y 8 0 — 0.05 0 0.01
ARV RILT7AY 2 0 — 0.1 0 0.01
EXi=wlIN 3 0 — 1 0 0.02
D=a}FJ—ILP 4 0 — 0.1 0 0.01
IF7o— 19 4 0.01 ~ 0.02 0.2 0 0.01
IkTzo7AavoR 8 1 0.02 05 0 0.01
XS THRARY 4 0 — 0.05 0 0.01
43)ay 2 0 — 0.1 0 0.01
YaFF=oy 15 6 0.02 ~ 0.04 1 0 0.02
yasvks=)J7a—) 9 0 — 0.05 0 0.01
INBERYTITFIL 8 0 — 0.1 0 0.02
oAaFV—IL 1 0 — 0.1 0 0.01
AR 1 0 — 0.05 0 0.01
SINATIY 2 1 0.02 03 0 0.01
RE/HER 4 0 — 0.1 0 0.01
g4 LAY 2 0 — 0.1 0 0.01
FrHoaFYr 1 0 — 0.02 0 0.02
FT AT L 5 0 — 03 0 0.02
FIIHYER 1 0 — 1 0 0.02
r)HST—)L 21 5 0.05 ~ 0.13 3 0 0.05
ESoR=)L 20 0 — 0.05 0 0.01
EUS/INUOAF L 4 0 — 0.05 0 0.01
En¥xay 3 0 — 0.2 0 0.02
74781 1 0 — 0.01 0 0.01
IxLVY 21 13 0.02 ~ 0.31 2 0 0.02
THSAK 27 8 0.02 ~ 0.10 1 0 0.02
Jaoo—)L 3 0 — 0.1 0 0.02
TILRS=)L 1 0 — 2 0 0.01
JLFSoa—L 6 0 — 0.03 0 0.01
JOoEIJFK 9 3 0.02 ~ 0.07 0.7 0 0.02
RIFARS L 4 0 — 0.05 0 0.01
Ry yny 1 0 — 03 0 0.01
RUZ)L7AYAF)L 1 0 — 0.1 0 0.01
Ry azFvr 1 0 — 0.05 0 0.01
ROFAH—T 1 0 — 0.2 0 0.01
RUMEHYY 7 0 — 0.05 0 0.01




- FTERALULDOFHESR REEE | BEEE | o

P A e ek Rejm | @ap | AR

iR R (me/ke) (ma/ke) | Haiksk ee

ROI)ILITx> 5 0 — 0.05 0 0.01
A2S5FT M 9 0 — 0.1 0 0.02




2. &L G 3 3018 1K)

s ﬁ;g}-*;g_l. Eéﬂﬁiuiwfﬁ% ﬁﬁgﬁé’ﬁg %gﬁ_ifﬁ? ?EEE‘ g)%
BIAK TREEHEE (mg/ke) (mg/ke) | #iA% | T
TYEIRMOEY 6 0 — 1 0 0.01
A2F TR 7 0 — 0.4 0 0.02
IkTzo7AavsR 5 0 — 0.03 0 0.02
HXHHRR 2 0 — 0.03 0 0.01
HAFF=IY 3 0 — 0.2 0 0.01
yasvkz=yro—)L 6 0 — 0.05 0 0.02
0Lz FEL 6 1 0.03 0.03 0 0.02
LTI IFSR 2 0 — 0.01 0 0.01
SEXYIL 9 0 — 0.05 0 0.02
BATOIY 4 0 — 0.02 0 0.02
FFANFY L 3 0 — 03 0 0.02
kTS 2 0 — 0.05 0 0.01
EUSAY 1 0 — 0.1 0 0.03
EUSYIL 7 0 — 0.05 0 0.02
JzuNLL—Fh 1 0 — 0.05 0 0.05
THIRR 1 0 — 0.02 0 0.01
TIRUDFIR 5 1 0.01 0.05 0 0.01
RILAN Y 1 0 — 0.03 0 0.02
RUOFFNYALT(VTRE I 1 0 — 0.01 0 0.01
RUTAAZ Y 6 0 — 0.2 0 0.01
BN 1 0 — 05 0 0.03




3. TEDL (A2 301R 1K)

s SR EEBFUL DR REER | EREZ | pops
REE B [ B ERE (me/ke) EOR | ERL | ek
== mg/kg
FEAITYR 10 3 0.02 ~ 0.09 5 0 0.02
FIEIRNREY 6 0 — 15 0 0.01
7558—)L 5 0 — 0.01 0 0.01
HaFT=Y 4 2 0.02 ~ 2.50 10 0 0.01
yavIT/OR 1 1 0.24 5 0 0.02
yasvks=yFo—)L 2 2 0.02 ~ 0.30 20 0 0.02
solLIzFEIL 3 2 0.27 ~ 0.69 5 0 0.02
LTV I7ER 14 10 0.05 ~ 0.68 15 0 0.02
IRIVAN) Y 2 0 — 6 0 0.05
RE/HR 7 0 — 10 0 0.02
BATOIY 4 0 — 0.06 0 0.02
FTANEY L 1 0 — 5 0 0.02
FIILR)Y 7 0 — 05 0 0.02
rIZILS Y 5 0 — 0.05 0 0.01
EUSYIL 3 2 0.13 ~ 0.35 15 0 0.02
INTOF L 1 0 — 0.05 0 0.02
Pl iV LY =) 5 2 0.08 ~ 0.10 10 0 0.02
TIRUTFER 1 1 0.25 20 0 0.01
RILARY 1 0 — 20 0 0.02
AYSIL 3 0 — 2 0 0.02
AFT5H LM 4 0 — 1 0 0.02
JLozxAay 2 1 0.31 5 0 0.05




4. [F53NAES GAHEL: 554R1K)

s SRS EEBFULORHR REER | ERMEZ | pope
RRE B [ EEHE (me/ke) EOR | EAE | ek
i< mg/kg
MEP 2 0 — 0.1 0 0.02
PAP 4 0 — 0.1 0 0.02
TrEITYR 5 1 0.22 3 0 0.02
FIEIRREY 7 0 — 30 0 0.01
F73o0—)L 8 0 — 0.01 0 0.01
e i=wlIN 15 9 0.02 ~ 1.60 15 0 0.02
IhFHY—IL 4 0 — 20 0 0.03
HXHYHRR 1 0 — 0.1 0 0.01
HaFT=DY 4 3 0.05 ~ 0.09 40 0 0.01
yasoks=yFa—) 11 8 0.06 ~ 0.91 20 0 0.02
saLIzFEIL 9 0 — 3 0 0.02
LTI ITER 10 3 0.53 ~ 150 25 0 0.02
IRIVAR) Y 9 4 0.13 ~ 0.59 5 0 0.05
CAMELT 1 1 0.13 50 0 0.02
RE /SR 3 3 0.05 ~ 0.73 10 0 0.02
BATOIY 9 0 — 05 0 0.02
FTANFY L 3 0 — 10 0 0.02
TN 12 3 0.02 ~ 0.05 05 0 0.02
EUFYIL 1 0 — 40 0 0.02
JNTz/oRAY 31 17 0.03 ~ 1.70 10 0 0.02
RILARY 2 0 — 5 0 0.02
IV 3 0 — 3 0 0.03
SIS AN 3 2 0.05 ~ 1.30 25 0 0.02
AYSIL 3 0 — 5 0 0.02
AFT5E LM 7 0 — 2 0 0.02
Lo 10 0 — 0.3 0 0.03




5. #9772 (EH K 301R(K)

- AR ERRRULOHR RERR | ZHEE | rams
RS BB | S FE R (me/ke) (g'%iﬁ) E&g (mg/ke)
== mg/kg
TrEITYR 7 1 0.36 5 0 0.02
FtI7I—h 1 0 — 1 0 0.01
7YX RMAEY 4 1 0.04 40 0 0.01
EEi=wlIN 1 0 — 5 0 0.02
HaFT=DY 3 3 0.06 ~ 0.32 10 0 0.01
yasvks=yFo—)L 2 2 0.20 ~ 0.64 20 0 0.02
STIITER 4 3 0.25 ~ 0.54 15 0 0.02
DRILAN) Y 1 0 — 5 0 0.05
RE /YR 5 2 0.02 ~ 0.03 10 0 0.02
BATOIY 5 0 — 0.05 0 0.02
FT AN L 1 1 0.48 3 0 0.02
TRy 8 0 — 05 0 0.02
TS 9 1 0.01 0.05 0 0.01
EUFYIL 2 1 0.19 25 0 0.02
Pl iV LY =) 8 4 0.03 ~ 0.89 10 0 0.02
RILANY 9 4 0.05 ~ 1.10 10 0 0.02
ARZRTRA 1 0 — 05 0 0.01
ARSES LM 3 0 — 3 0 0.02
JLozxOy 4 2 0.32 ~ 053 2 0 0.05




6. L) — (GRF#8: 30& 1K)

o e SR EERFRULDIER 5%'?-?}%?3—% HEfEE TERER
REE BB | S FE A (me/ke) (g'%iﬁ) E&g (mg/ke)
== mg/kg
TEZITUR 11 2 0.22 ~ 1.40 3 0 0.02
7YX ZrAEY 22 18 0.01 ~ 3.00 30 0 0.01
A3FHo0FYR 13 1 0.04 4 0 0.02
GLYX D LAFIL 11 3 0.02 ~ 0.23 15 0 0.02
IOFFT=Y 21 10 0.01 ~ 1.10 10 0 0.01
yasvks=yFo—)L 11 3 0.04 ~ 0.18 15 0 0.02
o)L 7zFEIL 22 16 0.03 ~ 1.40 3 0 0.02
$oz/ary— 10 7 0.03 ~ 0.39 10 0 0.01
AE/HE 15 1 0.2 8 0 0.02
FTAFH L 9 3 0.03 1 0 0.02
rJTILE—)IL 1 1 0.21 15 0 0.05
MLIIUESKE 5 2 0.06 ~ 0.65 4 0 0.02
EUSYIL 16 10 0.07 ~ 1.40 15 0 0.02
I/ HRAY 18 8 0.02 ~ 1.90 10 0 0.02
TILRUTFER 1 6 001 ~ 0.62 10 0 0.01
RUFFHESK 16 13 0.02 ~ 1.40 30 0 0.01
AYI)L 15 2 0.37 2 0 0.02
J=zanay 1 0 — 0.2 0 0.02




7. E95Y (B 301R1K)

Exz it ERRFULORR "Skw | maz | TEER

IR R EEE (mg/ke) (meg/ke) Bk me/ke

MEP 1 0 — 03 0 0.02
TPN 20 3 0.05 ~ 0.16 5 0 0.01
TrEITYR 11 1 0.04 2 0 0.02
77—k 1 0 — 0.1 0 0.01
FIEIRRAEY 10 1 0.04 1 0 0.01
12T HRR 4 0 — 05 0 0.01
A5 HaTYR 9 0 — 1 0 0.02
IrhFHY—IL 1 0 — 0.3 0 0.03
IrbTzo7FAvIR 3 0 — 1 0 0.02
GLIYX D LAFIL 5 0 — 05 0 0.02
HaFT=CY 9 0 — 2 0 0.01
yasoks=yFo—)L 1 0 — 0.3 0 0.02
a7z FEIL 8 3 0.04 ~ 007 05 0 0.02
LTI ITER 6 1 0.04 0.7 0 0.02
SIRTIVALT 2 0 — 0.6 0 0.05
Cox/arJ— 2 0 — 0.7 0 0.01
URILAN) Y 2 0 — 05 0 0.05
Aary—i 1 0 — 0.3 0 0.02
SEXYZIL 5 0 — 03 0 0.02
RE/HER 2 0 — 05 0 0.02
FF AT L 3 0 — 05 0 0.02
FIIIVESK 1 0 — 05 0 0.01
k)ZILEV—IL 6 0 — 0.7 0 0.05
FLZIUESKE 7 0 — 0.7 0 0.02
EJaRY 1 0 — 0.7 0 0.03
EUF)IL 5 0 — 0.5 0 0.02
Ey7nxs oy 1 0 — 0.2 0 0.02
IT7EXYRY 4 0 — 05 0 0.02
ZILAEaYR 1 0 — 0.7 0 0.01
INSHFYZIL 3 0 — 2 0 0.03
07T/ RAY 2 0 — 05 0 0.02
Jaisry 8 1 0.05 4 0 0.03
RILARYY 1 0 — 05 0 0.02
RUFFN)ALTAYTOE L 9 1 0.02 0.5 0 0.01
RUFAESFR 6 0 — 05 0 0.01
IV 2 0 — 05 0 0.03
ARZRRR 1 0 — 0.02 0 0.01
ASXT LM 1 0 — 1 0 0.02
JLozxOy 1 0 — 03 0 0.05




8. S=h(BAHEL: 608 1K)

s ﬁ;ﬁ%g E%BE;T:U:O)%% ﬁﬁg’%ﬁg %ﬁiﬁ%& ’?EEE g)%
BRIAS B (me/ke) (mg/kg) | #tk% | TEE
TrEITYR 29 8 0.05 ~ 0.52 2 0 0.02
FIEIRNREY 3 1 0.01 3 0 0.01
AIFHFAY 1 0 — 0.01 0 0.01
AVESY L 5 1 0.07 3 0 0.02
A2 TRR 4 1 0.02 03 0 0.01
e i=wlIN 11 0 — 2 0 0.02
ITAIFUORBERIE 31 0 — 0.1 0 0.01
HaFF7=oy 10 1 0.01 3 0 0.01
yasohs=yFa—)L 15 1 0.03 0.7 0 0.02
a7z FEIL 9 4 0.04 ~ 0.08 1 0 0.02
L)L TRAY 1 0 — 1 0 0.02
LTI ITER 6 1 0.05 2 0 0.02
LTobSZYFa—L 19 3 0.04 ~ 0.05 2 0 0.02
SIRTIALT 10 0 — 2 0 0.05
CITISY 23 0 — 2 0 0.01
LI ITFER 2 1 0.06 0.5 0 0.02
UANELT 1 0 — 3 0 0.02
SEXYZI 4 0 — 0.7 0 0.02
RERFT L 28 3 0.02 ~ 0.13 0.7 0 0.01
RE/HK 11 0 — 1 0 0.02
AEOTRSTH 9 2 0.01 ~ 0.17 3 0 0.01
FrHoaFYr 3 1 0.24 1 0 0.03
FT AT L 2 0 — 2 0 0.02
FINRLXOY 12 3 0.03 ~ 0.08 2 0 0.02
FJTILEV—)L 14 1 0.06 2 0 0.05
Jnay 4 0 — 2 0 0.02
ESsazRkAEY 7 4 0.01 ~ 0.14 05 0 0.01
EUFYIL 6 1 0.31 5 0 0.02
EV7n¥xs oy 1 0 — 1 0 0.02
EURVALT 22 13 0.03 ~ 0.46 3 0 0.02
I7EXHRY 4 0 — 2 0 0.02
JIVESHYIY 2 0 — 5 0 0.02
JoERFS A—t 1 0 — 05 0 0.02
TILFYARZR 20 7 0.03 ~ 0.11 1 0 0.02
INSHFIY=IL 3 2 0.62 ~ 0.65 5 0 0.03
TILFT=IL 2 0 — 0.2 0 0.02
LTz /5R0Y 12 6 0.02 ~ 0.13 05 0 0.02
TIRUTFER 2 1 0.21 2 0 0.01
JAZHIR 22 17 0.02 ~ 0.49 2 0 0.02
RUFFESR 25 13 0.01 ~ 0.40 3 0 0.01
RRAYK 14 8 0.02 ~ 0.37 5 0 0.02
RAFF7E—F 2 0 — 0.1 0 0.02
SIS AN 1 0 — 3 0 0.02
r7a=jL 1 0 — 0.02 0 0.02
JLozxAay 18 0 — 05 0 0.05




9. E—< (% 605R 1K)

- AN EERR UL OHR RERR | ZHEE | rams
REA 5 3EN BAAS s i 55 (me/ke) (gﬁiﬁ) E&g (mg/ke)
=Ix mg/kg
TrEITYR 7 0 — 1 0 0.02
F7JExIRAMAEY 25 3 0.03 ~ 0.11 3 0 0.01
A2 TRR 2 1 0.01 0.7 0 0.01
EEi=wlIN 17 0 — 3 0 0.02
HXHRR 2 0 — 0.01 0 0.01
GLYX D LAFIL 1 0 — 2 0 0.02
HaFT=DY 8 1 0.01 3 0 0.01
SR IT/OR 4 0 — 1 0 0.02
yasoks=yFa—)L 6 0 — 1 0 0.02
a7z FEIL 14 1 0.05 1 0 0.02
LTI ITER 1 0 — 1 0 0.02
VI/ESTIY 16 4 0.01 ~ 0.08 1 0 0.01
$oz/ary—I 2 0 — 2 0 0.01
SINTTFHER 4 0 — 1 0 0.02
IRILAN) Y 2 0 — 2 0 0.05
RE/HR 9 0 — 2 0 0.02
BATTIY 9 0 — 0.05 0 0.02
FFANES L 2 0 — 1 0 0.02
IS —IL 5 0 — 3 0 0.05
RLIBRZAF L 2 0 — 2 0 0.01
ESsnzkAEY 10 2 0.09 ~ 0.13 1 0 0.01
EUFYIL 13 3 0.02 ~ 0.08 2 0 0.02
Ey7nxs oy 1 0 — 3 0 0.02
JzoERF I A—k 1 1 0.06 1 0 0.02
TLTFHFY=IL 3 0 — 5 0 0.03
INTz/oRAY 1 1 0.10 1 0 0.02
TNARUTFER 10 4 0.01 ~ 0.08 3 0 0.01
JOLsRYy 5 4 0.07 ~ 1.30 10 0 0.03
RILARYY 6 1 0.03 4 0 0.02
RUFFEFFR 14 3 0.06 ~ 0.14 3 0 0.01
RRDUK 11 3 0.05 ~ 0.52 10 0 0.02
RRF7E—F 1 0 — 08 0 0.02
IV 3 0 — 05 0 0.03
Syl=w Ll =9V 12 0 — 3 0 0.05
AZS5E LM 8 1 0.03 2 0 0.02
JLozxAay 3 1 0.10 1 0 0.05
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10. TOWVAITA (G 304 1K)

s ﬁj\é@kg_} EEBEiL:u:a).ﬁ% 5%;%55 %gﬁ_ifﬁ? ?EEE‘ g)%
IR EEEE (mg/ke) (mg/ke) Rk me/ke
PAP 3 0 — 0.05 0 0.02
S—AMSYE—IL 3 0 — 0.3 0 0.02
FEAITYR 9 0 — 3 0 0.02
TVEXLRAEY 7 1 0.03 3 0 0.01
1IXYFAY 2 0 — 0.02 0 0.01
¥ i=wIy 8 0 — 3 0 0.02
IhTzoFAavsR 10 3 0.07 ~ 0.84 4 0 0.02
YAFF=DY 1 0 — 1 0 0.01
yasvks=)Fa—)L 6 1 0.03 2 0 0.02
AL IzFEL 2 1 0.05 05 0 0.02
EUZJIL 2 0 — 3 0 0.02
T ERFA—b 2 0 — 07 0 0.02
TLTHFI=IL 9 1 0.48 5 0 0.03
LT/ HRAY 1 0 — 1 0 0.02
TILRUDFIR 3 3 0.01 ~ 0.03 3 0 0.01
TOAryY 3 0 — 0.05 0 0.01
AXLFTIIR 1 0 — 1 0 0.02
RILAN Y 2 0 — 1 0 0.02
RUFFESR 8 0 — 4 0 0.01
RRAYR 1 1 0.35 5 0 0.02
SV 3 0 — 2 0 0.03

11 -




1. BARGZL (G 601R1K)

- 5 ST ERRF UL OHR RERR | ZHEE | rams
RS BB | gy S 6 (me/ke) (gf]iﬁ) E&g (mg/ke)
== mg/kg
CYAP 37 0 — 0.1 0 0.02
DMTP 7 0 — 1 0 0.02
MEP 12 1 0.03 03 0 0.02
NAC 9 0 — 0.4 0 0.05
FTEAITYR 31 7 0.02 ~ 0.08 2 0 0.02
TJFLARAEY 3 2 0.04 ~ 0.14 2 0 0.01
A5 HaTYR 11 0 — 0.7 0 0.02
IbFHY—IL 2 0 — 0.3 0 0.03
IrTzo7AvoIR 4 0 — 2 0 0.02
GLIYX D LAFIL 33 13 0.02 ~ 0.27 5 0 0.02
HaFT=DY 42 9 0.02 ~ 0.05 1 0 0.01
IR I/ TR 1 0 — 1 0 0.02
yasvks=y7a—) 29 3 0.03 ~ 0.11 1 0 0.02
0)LEYRR 11 0 — 03 0 0.02
S0 7zFE L 23 3 0.06 ~ 0.09 1 0 0.02
JI/ESTIY 5 2 0.02 ~ 0.12 2 0 0.01
$ox/ary— 50 2 0.02 0.8 0 001
TRy Xay 3 0 — 5 0 0.02
A= D=y 37 2 0.12 ~ 0.13 5 0 0.03
URILANIY 16 2 0.06 ~ 0.10 2 0 0.05
BATSIY 34 0 — 0.3 0 0.02
FrHoaFYr 20 0 — 2 0 0.03
FT AT L 24 0 — 1 0 0.02
F7aFrV—L 16 0 — 5 0 0.05
FINRLXAY 4 4 0.03 ~ 0.05 05 0 0.02
FLZIVESKE 38 1 0.03 0.3 0 0.02
Eoz by 14 8 0.01 ~ 0.04 05 0 0.01
ESynxkAEY 37 12 0.02 ~ 0.06 0.7 0 0.01
JzoERF T A—t 1 0 — 05 0 0.02
Jzo7aFJ—L 16 5 0.01 ~ 0.05 0.7 0 0.01
iV an VAV NN 5 2 0.02 ~ 0.04 2 0 0.02
J7oozsy 32 0 — 6 0 0.05
INTOF L 33 2 0.03 ~ 0.04 0.2 0 0.02
PAIZAUE Sl 4 0 — 0.7 0 0.01
07T/ H9RAY 6 0 — 05 0 0.02
TIRUTFER 15 12 0.01 ~ 0.09 0.8 0 0.01
TOFARR 4 0 — 0.2 0 0.03
~AFxHYaFry—iL 28 0 — 0.3 0 0.02
ANEFTIHIR 1 0 — 05 0 0.02
RILANY 3 0 — 2 0 0.02
RUFAESF 15 7 0.01 ~ 0.11 3 0 0.01
RAAYK 37 15 0.02 ~ 0.14 3 0 0.02
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